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Question 1

[ 1y =] -

function DICHO_I(LIZTE:TListBox: CLE:string):integsr;
var HILIEU,G . D:integsr;
begin

G:=0;
[:=LISTE. Itema . Count —1:
MILIED: ={ 64D div 2;
while {CLE<>LISTE.Itema|MILIEU|} and (G<=D) do begin
1f EL.E-:L'LIETE.I‘I:BIJJEI[HILIEU] ithen
D:=HILIEU-1
&lse
G:=HILIEU41;
MILIEU:={G4D§ div 2
end ;
if ELE:LIE-TE.ItEmEI[HILIEU] then
LICHO_I:=MILIED
else
DICHO_I:=-1

and ;

Question 2
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Question 3
VIRNE"-y

procedure FemplirParEntiersi(n:integer;lbi:TListEox):;
rar i:integer:;

begin

lhk.Clear;

for i:=2 to n do lbi.Items.Ahdd|{inttostr(i))
end ;
Fg3)

procedure EliminerMultiples(n:integer;lbi:TListEox);
rar i:integer:

hegin
i:=0;
while i<lbi.Items.Count do
hegin
if (strtoint(lbi.Items[i]) mod n =0) and (strtoint (lbi.Items[i])<>n)
then lbi.Items.Delete(i) else i:=i+1
end;
end ;
AL0gE)
function exXpo(p:integer:n:integer) tinteger;
hegin

if (nmod p <> 0) or (n=0) then result:=0 else result:=1+ expoip, n div p)
end ;

A4 gd)
procedure TForml.btnPremClicki(Sender: TChiject):
rvar i,p,b:integer;
begin
b:=ztrtoint (edtE.Text):
FemplirParEntiers (b, lbPrem) ;
i:=0;
while strtoint (lbPrem.Items[1i] ) <=sgrt (b)) do
hegin
p:=strtoint (lbPrem.Items[1] )
EliminerMultiples (p, lbPrem) ;

i:r=i+1
end
end;
A5 (ge)

procedure TForml.btnFactClicki(Sender: Tobject):;
rar &b, r,ciinteger;
hegin

a:=strtoint (edtk.Text);

hi:=strtoint (edtE.Text) ;

sgFact.RowCount :=1hPrem. Items. Count+1;

sgFact.ColCount:=bh-a+2;

for c:=1 to sgFact.ColCount-1 do sgFact.Cells[c,0] i=inttostr (a+c-1);

for r:=1 to sgFact.Fowlount-1 do =sgFact.Cell=s[0,r] :=1lhPrem.Items[r-1]:

for c:=1 to sgFact.ColCount-1 do

for r:=1 to sgFact.RowCount-1 do
sgFact.Cells[c,r] i =
inttostr (expo (strtoint (sgFact.Cells[0,r] ) ,strtoint (sgFact.Cells[c,0]11))

end;
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